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Q16a   	 State one method, other than the output method, of measuring GDP         [1]

Commentary on the answer 
Correct method given. 

1 mark

Q16b   	 Explain what is meant by ‘GDP’ per capita				                   [2]

Commentary on the answer 
The candidate offers a partially correct answer. As per the mark scheme the formula was only credited with one mark. 

A large number of candidates simply spelt out GDP as ‘Gross domestic product’ and ‘per capita’ as per head.  The command word 
“explain” led the expectation that the concept of GDP would be explored, e.g. ‘total output’ and the mechanics of dividing by the 
population.

1 mark

A GRADE CANDIDATE
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Q16c   	 Using Fig. 2, calculate Germany’s unemployment rate in 2014. 		    [2]  

Commentary on the answer 
The candidate correctly calculates Germany’s unemployment rate. 

2 marks

Q16d   	 Using information from the case study, compare how Germany and the 
UK are likely to be affected by a slowdown in the growth of the Chinese 
economy 											           [4]
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Q16e   	 Show, using a diagram, the effect of an increase in China’s exports on 
China’s exchange rate. 			     						      [4]  

Commentary on the answer 
One mark for less Chinese investment 

One mark for recognition that as China invests more into the UK than Germany this will harm the UK more 

One mark for further explaining the impact on the UK economy but without sufficient comparison to Germany. 

3 marks

Commentary on the answer 
Commentary on the answer 

One mark for correct labelling of the diagram

One mark for the original equilibrium

One mark for the rightward shift of the demand curve

One mark for the new equilibrium point

4 marks
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Q16f   	 Using information from the case, explain one reason why total saving was 
expected to rise in the USA in 2016.		    					       [2]  

Commentary on the answer 
The candidate correctly identifies a reason from the case study and explains it appropriately. They use good economic terms to 
concisely answer the question. 

2 marks
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Q16g         Evaluate whether a large cut in direct taxes will always increase investment.  [10]  

Commentary on the answer 
The candidate has correctly identified a direct tax and analyses the consequence of this for firms’ profits and investment. They also 
analyse the consequences of a cut in income tax. A valid counter argument is given which weighs up both sides but no supported 
judgement is provided. 

Level 3: strong analysis and good evaluation 

8 marks
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Q17   	 In 2015, the Turkish economy experienced an unemployment rate of 9.3% 
and an inflation rate of 7.4%. Evaluate, using an appropriate diagram(s), the 
extent to which it is possible for a government to reduce unemployment 
without causing a rise in the price level. 						      [20]  
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Commentary on the answer 
The candidate provides a structured and logical answer. They address the reasons why government can lower unemployment without 
increasing the price level and then balance this with a strong counter argument. 

Their analysis of how unemployment could be lowered includes an explained diagram and coherent links in their chain of argument. 
They use economic terms, such as demand pull inflation and macroeconomic policies, appropriately which adds substance to their 
analysis.  They evaluate throughout the essay, initially by explaining the benefits of supply side policies instead of monetary or fiscal 
policies. This evaluation is supported and comprehensive. 

The Phillips curve shows they have a strong understanding of the trade off between unemployment and inflation. 

The final paragraph is saved from just being a summary by their consideration of which type of unemployment is in question. 

Level 4: good knowledge, strong analysis and strong evaluation 

20 marks 
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Q18   	 The UK government planned to reduce the budget deficit of £87.3bn in 
2014-15 to £75.3bn in 2015-16, mainly through reduced government 
spending. Evaluate, using an appropriate diagram, the effect of a reduction 
in the budget deficit on an economy.						      [20]  
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Commentary on the answer 
The candidate has a strong understanding of the term ‘budget deficit’ and they provide strong analysis of the benefits of a reduction 
in the deficit, recognising that it will free up finances to fund education and the health service. 

They also analyse the PSNCR and the concept of crowding in which adds sophistication to their answer. An AD/AS diagram that is fully 
embedded into their explanation furthers analysis. 

Their answer is balanced as they allow enough time for a thorough counter argument. They explain the consequences for income 
inequality and the long run consequences of less spending on education due to austerity measures. 

The penultimate paragraph is a summary of previous arguments but there is sufficient strong evaluation throughout the answer to 
justify full marks. 

20 marks 
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Q16b   	 Explain what is meant by ‘GDP’ per capita.						       [2]  

Commentary on the answer 
The candidate has some understanding that it is output per person but hasn’t explained GDP. 

1 mark

B/C GRADE CANDIDATE

Q16a   	 State one method, other than the output method, of measuring GDP.      	 [1]

Commentary on the answer 
The answer is incorrect.

0 marks



Exemplar Candidate Work

19

AS Level Economics

© OCR 2017

Commentary on the answer 
The candidate has used the incorrect figure for the labour force; they have divided the number of unemployed in Germany by 
the number of employed rather than initially adding the two pieces of information to provide the figure for the labour force 
(45m). 

0 mark

The calculation of the rate of unemployment produced a wide range of solutions with around half the candidates answering 
correctly. Centres may wish to develop candidates’ understanding of how the economic data from countries is derived.

Q16c   	 Using Fig. 2, calculate Germany’s unemployment rate in 2014.		    [2]  

Q16d   	 Using information from the case study, compare how Germany and the 
UK are likely to be affected by a slowdown in the growth of the Chinese 
economy.		    									         [4]  

Commentary on the answer 
The candidate explains that the Chinese slowdown will reduce demand for UK exports but there isn’t any comparison between the 
UK and Germany or an explanation of why the UK will be affected more than Germany. 

1 mark
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Q16e   	 Show, using a diagram, the effect of an increase in China’s exports on 
China’s exchange rate. 									         [4]  

Commentary on the answer 
One mark for a correctly labelled diagram (quantity of exports was credited with BOD) 

One mark for the original equilibrium 

2 marks
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Q16f   	 Using information from the case, explain one reason why total saving was 
expected to rise in the USA in 2016. 							      [2]  

Commentary on the answer 
The candidate correctly identifies the reason (increase in interest rates) and explains (with good use of economic terms) the 
consequence for savings. 

2 marks

Q16g            Evaluate whether a large cut in direct taxes will always increase investment.	[10]  
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Commentary on the answer 
Due to the initial definition it is assumed that the candidate understands that firms will experience a cut in corporation tax and 
households a cut in income tax. 

There is good enough analysis with some developed links of the consequences of a cut in indirect taxation. 

The candidate makes an attempt to evaluate but it is a series of statements rather than really weighing up both sides and there isn’t 
a supported judgement. 

Level 3: good analysis and good evaluation 

7 marks  

Q17   	 In 2015, the Turkish economy experienced an unemployment rate of 9.3% 
and an inflation rate of 7.4%. Evaluate, using an appropriate diagram(s), the 
extent to which it is possible for a government to reduce unemployment 
without causing a rise in the price level.						      [20]  
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Commentary on the answer 
The candidate understands that supply side policies increase the long run aggregate supply curve and shouldn’t result in an increase 
in the price level. They have provided reasonable analysis of this although it lacks economic vocabulary (referring to supply side 
policies generically rather than choosing specific ones) and a comprehensive chain of reasoning. They provide reasonable evaluation 
on deflation, recognising that this will miss the objective of low and stable inflation – however this is a little off the point of the 
question. 

There is some further, limited, analysis on fiscal policy and there is an attempt at evaluation as they understand that a reduction in 
taxes could increase AD and cause inflationary pressure. 

Their analysis of monetary policy misses links, there is no explanation of why a devaluation of the pound will increase demand for 
labour and therefore this remains as reasonable analysis. 

The candidate’s final paragraph includes evaluation as they consider both sides of the argument but there isn’t a sense of weighing 
things up or a supported judgement. 

Level 2: reasonable knowledge, reasonable analysis, reasonable evaluation 

10 marks 
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Q18   	 The UK government planned to reduce the budget deficit of £87.3bn in 
2014-15 to £75.3bn in 2015-16, mainly through reduced government 
spending. Evaluate, using an appropriate diagram, the effect of a reduction 
in the budget deficit on an economy. 						      [20]  
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Commentary on the answer 
The candidate takes a little time to get into the question but they do provide reasonable analysis of the reduction in government 
spending on unemployment. 

Unfortunately they lose focus of the question at times (diverging to exchange rates) however, they bring it back to the topic of 
budget deficit reduction and provide sufficient analysis and evaluation to justify level 3. 

There is reasonable analysis in the fourth paragraph, they produce a nice explanation of how an increase in direct taxation could 
reduce the deficit and offer reasonable evaluation of the consequences for those on lower incomes. There is a little further 
evaluation at the end, they recognise the significance of how much spare capacity the economy has. 

Level 3: good knowledge, good analysis, good evaluation 

13 marks 
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D/E GRADE CANDIDATE

Q16a		 State one method, other than the output method, of measuring GDP.        [1]

Commentary on the answer 
Commentary on the answer 

Incorrect answer 

0 marks

Q16b		 Explain what is meant by ‘GDP’ per capita.     					       [2]

Commentary on the answer 
The answer is credited with one mark for the formula as per the mark scheme. 

1 mark 
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Q16c		  Using Fig. 2, calculate Germany’s unemployment rate in 2014.      		    [2]

Commentary on the answer 
The candidate has made an attempt to use the correct formula but hasn’t fully understood how to elicit the correct data from the case 
study. 

0 marks

Q16d		 Using information from the case study, compare how Germany and the 
UK are likely to be affected by a slowdown in the growth of the Chinese 
economy.      		    								        [4]

Commentary on the answer 
The beginning of the answer is too vague, the candidate doesn’t clearly answer this question. The final sentence recognises that there 
will be a fall in GDP for Germany and the UK – enough for one mark. 

1 mark 
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Q16e		 Show, using a diagram, the effect of an increase in China’s exports on 
China’s exchange rate.	   								        [4]

Commentary on the answer 
One mark for the labelling of the diagram (BOD for exports)

One mark for the original equilibrium 

2 marks 

Q16f		 Using information from the case, explain one reason why total saving was 
expected to rise in the USA in 2016.							       [2]

Commentary on the answer 
Correct identification of the reason but the explanation is too vague. 

1 mark 
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Q16g		 Evaluate whether a large cut in direct taxes will always increase investment.	
  												            [10]

Commentary on the answer 
There is basic analysis (one chain in their reasoning) of the link between a cut in direct taxation and investment and a limited 
evaluative point about why investment may not occur. 

Level 1: limited analysis and limited evaluation 

2 marks 
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Q17		 In 2015, the Turkish economy experienced an unemployment rate of 9.3% 
and an inflation rate of 7.4%. Evaluate, using an appropriate diagram(s), the 
extent to which it is possible for a government to reduce unemployment 
without causing a rise in the price level.  						      [20]
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Commentary on the answer 
The candidate has a muddled understanding of unemployment, price level and supply side policies. Their point about fixed exchange 
rates isn’t answering the question. 

There is a very basic attempt at analysis only. 

Level 1: limited knowledge, limited analysis, no evaluation 

2 marks
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Q18		 The UK government planned to reduce the budget deficit of £87.3bn in 
2014-15 to £75.3bn in 2015-16, mainly through reduced government 
spending. Evaluate, using an appropriate diagram, the effect of a reduction 
in the budget deficit on an economy.  						      [20]
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Commentary on the answer 
There is some, limited, analysis of the consequences of a reduction in government spending on education and health care and they 
understand the opportunity cost of some government spending which is enough for limited evaluation. However, the candidate has 
a basic grasp of the concepts and there is little use of economic terminology to aid a coherent chain of reasoning. 

Level 1: limited knowledge, limited analysis, limited evaluation 

4 marks 
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